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Question Paper Specific Instructions

Please read each of the following instructions carefully before altempting gquestions :
There are EIGHT guestions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no, I and § are compulzary and out of the remaining, any THREE are to be attempied
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against if.

Answers must be written tn the medium aouthorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempied partly. Any page or portion of the page left blank in the
Question-cum-Answer Booklet must be clearly struck off.
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WUE A
SECTION A

Q1. Frefefas § % oo Ova =7 T90 79T 150 Teat § 2ifm .
Answer the following questions in about 150 words each : 10x5=50

(a) “Fere w0 Tl TR #EE F A gEd s Tewgd wEn Bt 2 )7
T TEA % gedl & i e N g, W Fe W S fifd |

“A government next-door is the government that matters most for the
people.” Discuss the statement with special reference to the values of
local government. 10

() “Yefirae wiza = aefaan wwa 1 oo Geef & de 98 am 2 0
TaTE AR favem fifam |

“The philosophy of the Westminster model is at odds with the political
culture of India.” Critically analyse. 10

(¢) “Ho wEeE i iy wEiem vhEvEe afaee F TeEeee 5
Hfgursg 3 w9 2 |7 e il

“The attached offices and subordinate offices are integral to the
functioning of the Cabinet Secretariat.” Discuss. 10

(d) =% AR & % s @y sfusliay & g 1 ir & s |

1 317 HEAd 2 7 aifam fag fif

It is apprehended that lateral entry will lead to politicisation of
bureaucracy. Do you agree ? Justify. 10

(e)  “Fam wurE wEmEd Gewfafugl %, ==t =1 2% W 2 F uweE S AwEE H
Ieel THAHEE B % & 17 Ropf Hifsw |

“Contracting out tasks without effective accountability mechanisms can
be counter-productive for effective service delivery.” Comment. 10
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(b}

(c)

Q3. {(a)

(b)

(c)

“gram-=nfom EET TR 4 OEAAE S5 IwEEl #1 Hig @ e B

2 |” =91 A9 "eEd § ? A g |
“The market-driven profitability concerns have shaken the foundation of
the public sector undertakings.” Do you agree ? Give reasons.

I8 T fom A B, R Ay s 3 s % e’ ) gwsl | afe G
# | feopft Hifsm |

It is argued that the NITI Aayog has broken the edifice of planning into
fragments. Comment .

“srfsrarae T WAE weEd & fo anies wwe o e fBolee @6
B 17 30 Y & WE HRE

“Autonomy of civil society is crucial for responsive and effective
administration.” Examine the statement.

U= W sEyEl F e % o 158 faw s g A Tw oeEE =
aarEEAerE Tlge Fifvg | 103 B oawEm @ sm oaw fer ¥ ge
A EE?

Critically examine the eriteria adopted by the 15 Finance Commission
for allocation of resources to States. What have been the major issues of
contention since the 10! Finance Commission ?

‘mﬁmﬂmﬁ,ﬂaﬁm%wﬁ,ﬁmﬁﬁﬁmﬁ%mﬁmﬁa@a#
e, T=gTe & yfiee ot ot s Al & St @ 7 ==t Sifs
“In the coalition era with elusive majority of a single party in the State

Legislature, the role of the Governor becomes even more challenging.”
Discuss.

“fwra yarud faen = W wmAunig (Bewawfin) oee-fead doned 6
FHTEd Fa & " feooft Fifem |

“Development management advocates self-sustaining customer-friendly
institutions at the district level.” Comment.
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Q4. (a) “TeEl uiEdd & 08 fen mmen & swesht B9 % fom 988 gl v
w0 § 1" fammgEs v Fifem |

“Climate change issues pose new challenges for district administration
to be proactive.” Elaborate. 20

(b)  “anfrs afifiem (dEdm), @ 7€ 5 9%, e seufam w1 s
aftoms & 1" wfterer Fifs |

“Judicial overreach to a large extent is a consequence of ineffective
executive.” Examine. 20

(0) ‘ot srderaedn § @R wHsaEen § ShAw 5, Wi # R
AT W st snfEm # =fRe 7 s s gEea B 2 e fEl
oz Fifam |

“In the transition from the State-led economy to the market economy,
India should rely more on ‘indicative planning’.” Do you agree ? Explain
your position. 10
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wvE B
SECTION B

Q5. Pl § | o vy =1 T wovA 150 et F S
Answer the following gquestions in about 150 words each : 10x5=50

(a) “wma ° fafem dwr § wadwdy ot gmimd’ ol aw it il ol
‘Frmmnt’ =1 witeenfa aff o 9w § |7 T o memn # 7 oitfem fag
#ifam |

“The ‘enablers’ and *facilitators’ are yet to replace the “inspectors’ and
‘controllers’ in the civil service in India.” Do you agree ? Justify. 10

(b) “Fftn wurem % fom fafus smds 1 sawsa @ g o gad w9 &

o 38 3199 W= % wia Smres wee it ot stavema 817 fadsm fife
“Financial inclusion needs legal backing but it also requires increasing
awareness for it to become a reality.” Discuss. 10

(c) “Ffe gEmunEe w1 uE afeene @e we % B, e e % fow

Al § 1 Gl 6 smavawa Bt 2 (7 e R

“Gender budgeting requires rethinking bevond allocations to become a
powerful tool of gender mainstreaming.” Discuss. 10

(d)  “amnfis gefien 3 g A9 w5 e = i wifes g e =

& & | feoit Fifsm |

“Social audit has lent a critical edge to the implementation of
programmes such as MGNREGA." Comment. 10

(e) “areEm (wwem wAN fasm wfral sfufem) @se e % andds == &
R g B el w e e F e 6 8 @

IgHTied Fadi & |7 faeem Fifem |
“The AFSPA debate reveals that the Indian paramilitary forces are

caught between the imperatives of national security and protection of
human rights.” Discuss, 10
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Q6. (a)

(b)

(el

Q7. {a)

{b)

(el

“uuirae] = Il & awEl e & e s gl apeypl # 7
w1 g faam § ey wwws o gE w0 39 & oo i 8 e
TR 2 fad e =i fasm 2 fg=m Fifsm

“Competency mapping is important for effective allocation of
responsibilities to administrators.” De you think that a generalist
administrator can handle all issues as effectively as a specialist ?
Discuss.

“oorrafas gunl W fafim an oot ¥ ofe tuems Aol @ w8
Hera faawma 78 fFn # |7 70 21 aEna & 0 A St |

“The recommendations of wvarious commissions on administrative
reforms have not made a radical departure from the Paul Appleby
Report.” Do you agree ? Give reasons.

‘o e  fo, mE B amerE W @ A wa
TRl o AT F TEH w9 5 AravEEar 2 2 17 ==t i |

“Performance management requires identification of indicators and
measures to ensure that goals are achieved efficiently.” Discuss,

“urei faeRm FEn, 919 U9 T S 6] gEEE & T9E §ade o

fawer @ & |7 Faverw Sifau =i geme A |

“Rural development programmes have failed to effectively address the
problems of small and marginal farmers.” Analyse and give suggestions.

“Ueakh g B ‘T & o Tehiem e ® e qerwm w1 gifdm v W
el e & |7 feoauft Fifm |

“In the Network Era the TRAI has the challenging task of protecting the
Net Neutrality from digital aggression.” Comment.
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20
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“oftew yeeA (FwEs Sone) TEE few dfgw § aafes el @

Froe &1 v Iugw Avdrenie WHTE TEH # 2 |7 fogft Fifem |

“Neighbourhood management provides an appropriate glocal strategy of
dealing with social exclusion in the urban development scenario.”
Comment.
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Q8. (a) “wurEl o frwEa FEwn & R gt sfegm £ srevwa B R
W WH A $u et 1 U § wewme o msd 217 Rl
#ifam |

“Effective  public grievance redressal requires administrative
commitment. But process reengineering can help prevent some
grievances.” Discuss, 20

(b} “wrif % FFOHH F w0 A T weyrm afede seves @ oy T

v gt v a7 ot Hifsm |

“Institutional change is a necessary but not a sufficient condition for
reducing criminalisation of politics.” Examine. 20

() “ita wwirr W 1 sl U@ SRS e wie A e 7
feoquft &ifirm |

“The disempowerment and depoliticisation of urban local government
has happened in multiple ways.” Comment. 10
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